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Consolidation;

( 1. Make a chart listing the equations that have graphs that are increasing,

decreasing and neither increasing nor decreasing.

Increasing Decreasing Neither
\/:‘é_’ (.21) \/: 21 Y:(Ji)i y-:: ‘1
y=3 y= ()7
V=47 y= -2 (2%)
V=2 ()
>

a) Increases? @ >0 ond b7
@ a<o ot 04 b< ) ] [

y=ab™ |
What characteristic does an exporeniiz! squation have ifi’tSjph }' — i

b) Decreases? @ A0  and 0< b< | 'K%
~ @>a<o ound 'b7l

2. Describe how the value of the base, b, of an exponential function determmna* he

shape of the graph. Vﬂr/}\taly Stretche
DIf b7§, The higher e 'b'value, tie steeper e graph becones,

@I—F 0<b<] , ten e ]mj'/\ef the UL \idu—{, M-Hmtfe(‘ H‘Q,Caﬂ’Jf'/\ betomes

horizoa f‘all grrefct‘e;ig J:.JL
3. What ordered pair do all the graghs have in t,ommon'?

— (0, )

4. If the equation was changed tofy = ab*| what would the y-intercept be?
(0,0.)

a7 .
5. The graphy = @—) and the graph of ¥y = 27¥ are the same. Show algebraicaily
that this is true.
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